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Piper Corporation's management has been reviewing the company’ s profitability and s attempting 1o
improve performance through better planning, The company manufacturos three products; 1, M, and N
Selected per unit data on these products follow:

QUESTION 1 (10 POINTS):

Product 1 Product M IProduct N
Selling price 19 h0 20
Variable Manufacturing ! 19 I
Variable marketing 1 Y |
Machining time r::quir;:d_pur hour | hour 0,50 hour (.25 hou

The machining time is limited to 200 hours per month, The company's fixed costs are 1,500 pel monith
Assuming that the number of units that can be sold of each product is Hmited to 500 units of L, 350 units

of M, and 4(){1 units of N,

e

Required:

a- Compute the contribution margin per machine hour

{ : Pfﬂfﬂ“f%' L-
(a- B)

C M/wq\niﬂe Wouy

b- What product or product
profit?

A
e e

S-HUB.com

e b

STUDE

Liib \

1

/

)

for ench of the three producty

[‘i"'rf(uf } A/
(!ﬁ - ll‘H

418 Li 9~Et:_.).

ination (in quantities) must-be sold to obtain o maximum

{"ir-pff—l’ M
(_:;,cr-?.l\

g

. m——

——qu] [QP(;L’ ”’j 2 7 oo hnm‘s /M““ﬂ"‘
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QUESTION 1 CHOOSE THE CORRECT ANSWER AND FILL UP YOUR ANSWERN ON THE

- R i I e

1. Financial accounting :
A focuses on estimating future reven costs. and other measires to forecast activities and

émm

provides information about the company as a whole
D. bothband ¢

reports information that has occurred in the past that is verifiable and reliable

3. Which of the following is/are a characteristic of managerial nccounting?
A. cannot be applied in service organization  «
B. must follow GAAP

C? emphasis on relevance of data, rather than precision

both a and ¢ above

3. Werth Company produces tie racks. The estimated fixed costs for the year are SIHN,000, and the
it are $14. Werth expects to produce and sell 60,000 units ot A

estimated variable costs per un oy
price of $20 per unit. By how much can sales revenue drop before Werth incurs & lo
A. $12,000 ¥ -Fl‘!:%.mﬁ o0 le L
mm \KJn'} ﬁ __?___;‘__:_I...-—-—- 5“ ‘lll."ﬂ“‘ﬁl
§72,000 st i e SUoeel
$360,000 R = borece ww ——
| p:=t2e Cf: -”'Eé‘n*“
4. When evaluating a make-or-buy decision, which of the following needs to be an.wmh,.,i.__ﬂw
151900

A. alternative uses of the production capacity
YB. the original cost of the production equipment
\/ . pension to the current employees %
material-handling costs that cannot be eliminated

L3

Which of the following is true of an opportunity cost?
it is the income foregone b% fot using a resource in an alternative way,

the higher the opportunity costs, the lower is the relevant cost,

‘l.CZ it is recorded as an expense in the accounting records.
$D. itisan unavoidable cost that cannot be changed no matter what action is taken.

6. Hermantic, Inc.

Direct Materials S.;g:m 10 00®

 Direct Labor
 Varia 32,000 ad, eee
22,000

s ALy e 3 | |

can produce 100 units of a component part with the following costs:

ca avoided, what is the correct make or buy dEcision
- @ Make H‘myf 1,000 4 -

------
=kl

........

- .,_" (]
|'.,

STUDENTSHUB cor s
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R they are always accounted as apportunity costs
* they cannot be fixed costs
all of the sbove falve
Zephram Corporation has » plant capacity of 200,000 units per manth, Unit costs af capacity

are: '::'1:".‘

g’ 1 nﬂ' e 1
IMrect materials $4.00 £ A o
Direct labor 6.00 -'f: ,‘ ” | ©F
Variable overhead 1.00 ———————————————
Fixed overhead 1.00 T L W 5, f;f. o
Marketing —fixed 7.00 e s
Marketing variable 160 P OJ: | fo & é, [O06 e

Current monthly ll,twrli;}}ogﬂ,mlh at $30.00 each. Q, Inc., has contacted Zephram Corporation
about purchasing uniis at 24.00 €ach. Current sales would not be affected by the one-time-only

special order. Whal is Zephra m‘(:huga in operating profits if the one-time-only special order iy

ed?

$14 800 increasce ) & Y- 2 “
$17.200 increase

$22,000 increase

$£13,200 increase

9. Rambo Company has three products, A, B, and C. The following information is avallable:

ProductA  ProductB Crody

Sales $60,000 90,000  €524,000° L. 1600
Variable costs 36,000 48,000 15,000¢ i e mewlal Co5¥ °
1 5 j M O

Contribution margin 24,000 42,000 9,000

Fixed costs: . 2 > L4 oo
Avoidable 6,000 15,000 4,000 .
Unavoidable 7,000 9,000 5,400 4

Operating income $.11,000 $18,000 $.(400)

mbo Company is thinking of dropping Product C because it is reporting a loss. Assuming
Rambo drops Product C and does NOT replace it, operating income will e
* \/ A. increase by $400 |
27 1 8 increase by $4,000
v C. decrease by $5,000
' Do - A~ 206 4+ A
D. decrease by $9,400 e Gerer 2

10. 1f » company had a contribution margin of $200,000 and a contribution margin ratio of 40%,
4l variable epsts must have been |

e T

I LR LN i v : . X £ L
y L, BBl L, S ¥ o AN P i # L | F iy " - A & . ! Mo ¢ -, SH g e L] i arh Wiy
i * _ o W AL i ¥ e, iy WO e S T - AR o B, LA REE Yol T g e gl ¥ i PLEE ol S e L < e | # o
{ ! £l AN T P e e e ok T R L2 e o T i \ i} LL e Ryl el L | S Iy Ly Jp = 50T
w P % - et o] a, it ol o T T g W el 1t L ht eyt DAt LR D T B g d ; iy 2
7 - * =y ' N T e TR Loy AT Lt o r
al i b | D o P ki

I ol T PR S R e 4
i Ledfs . ll'th“ ‘-I; L1l -ll!“..'u W LE ||:- ] ey --ql.\l:- Nl ! g ;5 e "I“'._';‘-' A gl i -El"' o 4 i b T ]
el 1= N L P e T Tl g R S T gt e 1 T ey ol AT irt e o . —m st G oy e LR Al G o e LR 4 Il
rd - * Sl LS o L > ] i - , . 111 b ll_.'h_ - e, e S W =ik ._..-I._ L 13, g = | - s, et el o =2 B = '] TapEet T . 5 F
-;i;;, L i 1.'.;_ -_;iT‘":ﬁl_‘ .}. '_-:l;ll i".‘ s e :I—'h: Pl -I;_.-.::.H'. P8 | v S Tty '.n'-'r'*:-'-_"?--"'-ﬁl:. -ﬁ_l_,:’-_-_ “__- T '::"'.1-' i :‘r;_J:'I'." e i ..le-‘_-' : .*_:* . L% i / et B Dy i
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D. $200,000.

12, Reese Compan

Y requires sales of $2,000.000 '
income of $400 . o 1o cover its fixed costs of $900,000 and to ear J
X aner ,000. What percent are variable costs of sales? o s
@ 35%,. oo g co — 902,000 — X - %o 409 oo
C- 45%. : b iy ( K}
,r-‘"“"
D), 65%. l ~ 7&6 ;] O OG ; j

13. A company with an operating income of $68,

margin of safety of: 000 and a contribution margin ratio uf54"f/1. has a

A. $36,720. meos = Sales _ BEP RS

j k| i’ C':M .1
B. $125,925 -
C. $147,826. e

It 1s not possible to determine the margin of safety from the information provided.

14. Barkley Company sells two products with the following per unit data:

Standard Deluxe

Selling price/unit $75 $120

Variable costs/unit _45 60

Contribution margin/unit 330 3 _60

Sales mix 3 2
If fixed costs are $630,000, the number of standard and deluxe units that Barkley must sell to
break even is QEP - e _ b3o0c0c00
A. 1,800 standard and 1,200 deluxe. CMlunsl P 20
B. 3,600 standard and 2,400 deluxe. ( 2K%e 4 24X de)

@ 9,000 standard and 6,000 deluxe.
D. 21,000 standard and 14,000 deluxe. ¢ ale
LV ¢

15. When a greater proportion of costs are fixed costs, then . A
A A. asmall increase in sales results in a small decrease in operating income C M

C? when demand is low the risk of loss is high _ (FC ) +
. adecrease in sales reduces the total fixed cost per unit
D, adecrease in sales reduces the cost per unit % CD'I:

16. If a company has a degree of operating leverage of 3.0 and sales increase by 25%, then

Eap—

A. total fixed costs will increase by 75%
B. total costs will increase by 75%

C. profit will increase by 30%
@ profit will increase by 75%
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17, Which of the
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Mwiyy ey
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11, hatorf el CONlY

(m(_ 3 relovant costy .
1) Viu iﬂhh‘ CONIN

IN, Qunntitntive e
A

fory

J melude financial in!iumnlium I
cnn be ¢

ROt nonfinancial iul'mmutiun)&
monetary termy .

vant when making de
Yoe morale X

Xpressed in
Coonre nways role

Clslony |
1),

nelude emplg

19, Which of the following costy is NOT considered to caleulato the minimum acceptable price of a
ane-time-only spocipl order?

Aﬁ‘ marketing costs

B, direct material costy
Coindirect material costs

. special design Costy

i

20. Piels Corporation produces a part that is used in the

manufacture of one of its products, The
COSIN nssocinted with the production of 10,

000 units of this part are as follows:

(r'\'? (O 8 © x«-.utl(‘
Direct materialy 5 90,000 - e
Direct labor 130,000
Varlable factory overhead 60,000
Fixed factory overhead 140,000
Total costy 3420000

Of the fixed factory overhead costs, $60,000 is avoidable,

Assuming no other use of their facilities, the highest price that Piels should be
10,000 units of the part is :

A. $420,000
B, $280,000

$340,000
D. $360,000

willing to pay for

S
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I.~ Capital budgeting is the process

of making long-run planning decisions for investments in projects.

2. The Required Rate of Return (RRR) is set externally by creditors as the interest rate on long term
liabilities. [ - i

3. The internal rate of return for a project is the discount rate that makes the net present value of the
project equal to zero. — 1

4. The present value of an amount to be recejved in the future will always be more than the actual

amount to be received in the future. = >

g'}"

5. Depreciation itself is not a cash flow, but it reduces the amount of taxes that a company must pay.
— R

. — i,

6. The payback period method ignores cash flows that occur after the payback period. |

@Relevant cash flows are expected future cash flows that differ among the alternative uses of
investment funds. 7\

8. In calculating the net initial investment cash flows, any increase in working capital required for the

v

project should be included. |

QUESTION 2: MULTIPLE CHOICE QUESTIONS
1. The payback period is criticized because:
A. It 1s difficult to apply
@ It ignores the time value of money

G It is difficult to understand conceptually
D. All of the above
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2. The minimum annual

acceptable rate of refurn on an investment is the
A. accrual accounting rate of return

Cﬁ‘ required rate of retum
"l

C. internal rate of retumn

D. net present value

3. The Virginia Company invested in 3 four-vear project at an expected rate of return (discount
rate) of 10%. Additional information on the project is as follows:
Year Net cash inflow Present value of $1 at 10%
: $4,000 509 S it
2 4,400 826 54 3%
3 4,800 751 3,605
4 5.200 683 3, 551

What was the amount of the original investment assuming a negative NPV of $1,000? (Round

to nearest dollar)

-

& $17 430

$14.42 AU s, R
@513527 8

4. The net present value method of capital budgeting is preferred over the internal rate-of-return
method because _

-
— e

A. the net present value method is expressed as a percentage of initial investment £
e net present values of individual projects can be added to determine the effects of
accepting a combination of projects . A
he percentage return computed under the net present value method is, very easy to compare. 2
\ the calculation under the net present value method is easy as it does not use time value of

money A
5. Malive Park Department is considering a new capital investment. The following information is
available on the investment. The cost of the machine will be $119,000. The annual cost savings if the
new machine is acquired will be $35,000. The machine will have a S-year life, at which time the
terminal disposal value is expected to be zero. Malive Park is assuming no tax consequences. Malive
Park has a 12% required rate of return. What is the payvback period for the investment?

-}"..‘:-* L . X
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A, 4.2 years

@3 4 years

C. 5 years

@ 0.8 years

6. AARR indicates the average rate at which

@ a dollar of investment generates after-tax operating income

B. a dollar of after-tax cash flow generates net income

C. adollar of investment generates a positive cash flow

D. a dollar of after-tax non-operating income generates net income

7. Which of the following is a component of net-initial-investment cash flows?

A. original cost of an old equipment /—

r:ash outflow to purchase a new equipment

C. depreciation cost

D. after-tax cash flow from operations

8. The Golden Shades Corporation disposes a capital asset with an original cost of $280,000 and
accumulated depreciation of $160,000 for a salvage price of $50,000. Silver Shades's tax rate is 40 %.

Calculate the after-tax cash inflow from the disposal of the capital asset.

A. $28,000
B. $70,000
C. $50,000

(D) $78,000

capital asset of $16,000 each year for six years. The corporation’s income tax rate is 30 %. Calculate

.

BU,—_ 2%::,::‘-::

[na,uub > 'F.?U_#I @b; | 6¢¢ [

9. The Venoid Corporation has an annual cash inflow from operations from its investment in a

L—

— i‘é’clﬂﬁ'ﬂ‘

the total after-tax cash inflow from operations for six years.

96,000
/ $67,200
$28,800
'D. $16,000

i
-
—
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QUESTON 1: CHOOSE THE CORRECT ANSWER
1. All else being equal, an increase in advertising expenditures Wk e
;:,‘«?Lﬁ reduce operating income _

\ |
b. reduce contribution margin oY)

T

€. increase variable costs L
d. increase selling price :

2. Which of the following is not an assumption of cost-volume-profit analysis?
g=a. L~ The time value of money is incorporated in the analysis.
#b. - Costscan be classified into variable and fixed components.

o3 The behavior of revenues and expenses is accu rately portrayed as linear over the relevant

range.

_ The number of output units is the only driver.

Questions 3 through 5 are based on the following data.

Tee Times, Inc. produces and sells the finest quality golf clubs in all of
following revenues and costs in 2020 for its Elite Quality golf club sets:
Revenues (400 sets sold @ $600 per set) 5240,000
Variable costs 160,000

Fixed costs 50,000

Clay County. The company expects the

3 How many sets of clubs must be sold for Tee Times, Inc. to reach their breakeven point?

a. 400 BEY . __E_f:.-—-' s b3rP. Eo Wh:}'
73 250 f:? & M fn:.'n\- /j_ - L
) 7a&
— C. 200
d 150
4. How many sets of clubs must be sold to earn a target operating income of $90,0007
700 ’ﬁfj-‘!r - : 513“:‘.&—"" qalgﬁ-ﬁ
( e b. 500 C? 7 s
' c. 400
d. 300
S. What amount of sales must Tee Times, Inc. have to earn a target net income of $63,000 if they have
a tax rate of 30%? T
Tae! 5 éh o= LSS
a. $489,000 & gl o> %
b. $429,000 ? O 7‘

S p/%zo,om L ehb W bae
A0 100° 't';ﬂi"“

[_ “"{35 z 1/——-—;""—'—_' i
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d. $300,000

6 :
fuhc:mpany that sells many different types of products should approach C-V-p analysis by assuming
A
a.

all products will have the same contribution margin ratio.
Q\/@ products will be sold in a constant mix. 2
C. they should calculate a separate break-even calculation for each item.
d. they will sell equal amounts of each item.

7. In a company with low operating leverage,

xa. fixed costs are more than the contribution margin
“b. contribution margin and operating income are inversely related

there is a higher possibility of net loss than a higher-leveraged firm _
~Jless risk is assumed than in a highly leveraged firm

Use the following information for questions 8 and 9.

=
(‘L
LSB Company has the following income statement: ‘1'1
D ;
R £
evenues S$100,000 @)
Variable Costs 40,000
Contribution Margin 60,000
Fixed Costs 30,000
Operating Income 30,000
8. What is LSB’s Degree of operating leverage (DOL)? (HM ¢ 6‘53
A 3.33 — T A D
O B i 30
C- 0.50
d. 1.00
9. If LSB’s sales increase by $20,000, what will be the company’s operating profit?
$42,000
B 2
b. $12,000
C. S50,000
d. $30,000
ctones Manufacturing sells a marble slab for 51,100. Fixed costs are $33,000, while the variable C?Sts
. Ston _ _ ,
10 e $550 per slab. The company currently plans to sell 210 slabs this month. What is the margin o
ar :
safety (in dollars) assuming a5 clabs are actually sold? : g_‘ i
a. $165,000 (1l : =
-
b. $49,500 BEP - Lo Fc~p 3220
A Vo J,.}I; Lo ooy O ek gf;ﬁs
Nt
ve - BET
= 25 wni & ik
® By 60 - C? 35

R b " i i ﬁ_ﬁ

R
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£
@.527,500 \ |
A3 $33,000 ;

”
4

QUESTION 2: TRUE/ FALSE

8. If the contribution Margin ratio is 40%

It means that every $1.00 of sales will

11. At the breakeven point, total fixed expenses equal total contribution margin.

-

4

12. Total variable costs change in direct response to changes in volume or activity.

P
A

N
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